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QUESTION 1

Who should update the work estimates during the Sprint? 

A. The Development Team 

B. The Project Manager 

C. The Product Owner 

Correct Answer: A 

 

QUESTION 2

Sprint duration is usually fixed at one month or less. Why is that? 

A. Because customers cannot wait longer than a month. 

B. Because it is difficult to focus on the same thing for longer. 

C. Because this keeps the complexity and risk acceptable. 

Correct Answer: C 

 

QUESTION 3

Suppose that you track the Sprint progress in a Burn-Down chart. You have added an extra line to show the planned
progress. The line of the actual progress stays below the planning line. 

What does this say about the progress? 

A. You are ahead of schedule. 

B. You are behind schedule. 

C. You have not planned well. 

Correct Answer: A 

 

QUESTION 4

All Scrum events are time-boxed events. What is the advantage of time-boxing? 

A. It ensures commitment of the Team. 

B. It facilitates osmotic communication. 

C. It maximizes productivity. 
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Correct Answer: C 

 

QUESTION 5

For a Sprint, progress is monitored in a burn-up chart with bars. What makes the bar become longer? 

A. The progression of time. 

B. Work is added to the Sprint Backlog. 

C. Work is deleted from the Sprint Backlog. 

Correct Answer: C 
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